Math.Econ.Anal.Quiz.2.exercises 15.0ct.5.
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Compute lim,,_o (1 + 5-)
COIﬂpUte 1imn—>oo (2 %)
(

Compute lim,,_, (0.4 — f) 2
3n—2
Compute lim,, (1 + 7%/2> !

Let f(z) = 2 — 5z, zo = 1. Compute W !

Let f(z) =1 — 5z, 1o = 1. Compute %ﬂw |

_ oz f(zo+Az)—f(zo0)
Let f(z) =2%. Compute —==——=C—=-=0 |

Let f(x) = —x? + 5z, 2o = 3. What is the prediction of the linear approximation of f around z, for
the value of f(3 + Ax) ?

Let f(z) = €3, xy = 4. What is the prediction of the linear approximation of f around xq for the
value of f(3 + Ax) ?

Compute (2? sin(4z))" !

Compute (2%/sin(4z))" !

(
(
(
Compute (cos(sin(4z)))" !
Compute ((sin(4z))%)" !
(

Compute ((5z)® + sin(4z) — v/25)" |



